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QUESTION ONE

Required

Each of the following statements is either true or false.
Indicate the correct answer by writing True or False
against the statement number in your answer folder. Do not
copy down the statements.

i) Operating break-even analysis is a method of
determining the peint at which sales will
just cover operating variable costs. T F

i1i)In financial forecasting the initial forecasts
of the balance sheet and income statement may
not be affected depending on how the funds are
raised. T F

iii)Break even analysis based on units of output is
useful in determining the breakeven point for a
firm that sells many products at varying prices. T F

iv)Firms that have fixed costs that include a large
amount of noncash expenses often find it useful
to compute the cash operating breakeven point. T F

v) In financial planning, mathematical models such
as regression analysis should be avoided as they
can lead to unrealistic forecasts. T F

vi)Ideas for capital projects shculd always come
from top management because they are better
placed to know what is happening in their
industry. T F

vii)If the stream of future cash flows is constant
except for one or two periods then they represent
an annuity. T F
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viii)One of the merits of the payback method of

ix}

X)

project evaluation is that it ignores the time
value of money T F

If the net present value of a project is zero,

then that project should be rejected because

it will not add anything to the wealth of

common shareholders. T F

Operating breakeven analysis is a method of

determining the point at which sales will just

recover operating costs and earn investors their
required rate of return. T F

{10 Marks)
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QUESTION TWO

TK Ltd which has financial year-end of 31 March, operates a
non stop bus service between two major cities in Swaziland.
It is currently negctiating with the regulatory authorities
about a five year extension and enhancement of its existing
contract. TK Ltd has forecast passenger use over the next
five year period to 31 March 2010 and based on its proposed
carriage capacity, has calculated the following figures:

Five year projections:

Number of carriages used on the route: 8

Maximum passengers per carriage: 55
Average occupancy rate: 60%
Average number of return journeys per day: 10
Average price per return trip: E12
Number of days operating per year; 340

Contribution per unit (sales price less variable costs) 1is
expected to remain at a cknstant 35% of price over the
pericd. Additional fixed costs of Elm per annum will be
incurred on the new project. The management accountant has
suggested that, in addition, the existing fixed overhead
apportionment be increased by E200,000 per annum to reflect
the increased activities relating to this part of the
business., If the contract 1s renewed, other services
offered by TK Ltd will be reduced to enable capacity
expansion on the new contract. This will involve the loss
- of a long-standing contract, which was expected to continue
indefinitely, worth E250,000 in pre-tax net cash inflows
per annum.

One o©of the conditions of a successful new bid is that a
minimum investment of ESm,in support equipment to enhance
the existing service, 1s required at the start of the new
contract on 31 March 2005. This equipment will no longer be
needed to support the contract after four years and will be
disposed of for EC.5m on 31 March 2009. Capital allowances
are available for these transactions. A balancing charge or
allowance would arise on disposal of the asset. The
investment in this asset should be treated separately from
any other asset investment for tax purposes. Assume all
tax payments and allowances arise at the end of the year in
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which the taxable transactions arise (in
delayed). Assume that all operating cash
the relevant year-end.

Other relevant information:
After tax discount rate per annum: 10%

Company tax rate: 30%
Writing down allowance: 25% per

balance
Required:
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other words, not
inflows arise at

annum, reducing

{a) Evaluate the proposal on financial grounds

{30 Marks)
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QUESTION THREE

Tengetile Ltd has the following extracts:

Year 1 Year 2 Year 3
E E E

Stocks ~ Raw materials 108,000 145,800 180,000

Work-in-progress 75,600 97,200 83,360

Finished goods 86,400 129,600 142,875

Purchasges 518, 400 702,000 720,000

Cost of goods sold 756,000 972,000 1,098,360

Sales 864,000 1,080,00¢C 1,188,000

Debtors 172,800 259,200 297,000

Trade creditors 86,400 105,300 126,000
i} Calculate the length of the working capital cycle year by
year. {15 Marks)

ii} Discuss possible actions that might be taken to reduce the
length of that cycle, and the possible disadvantages cf each.

(15 Marks)

Total: (30 Marks)
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QUESTION FOUR

Five wealthy individuals have each put E20C, 000 at your
disposal to invest for the nexttwo years. The funds can be invested in one
or more of four specified projects and in the money market. The
projects are not divisible and cannot be postponed. The
investors require a minimum return of 24% over the two
years.,

Details of these possible investments are:

Expected

standard

deviaticn of

Return over two Returns over two

Initial cost Years Years

(E'000) (%) (%)
Project 1 600 22 7
Project 2 400 26 9
Project 3 600 28 15
Project 4 600 34 13
Money market
minimum 100 18 5

Correlation coefficients of returns (over two years)

Between projects and

Between projects the market portfolio the money market

1 and 2 0.70 1 and market 0.68 1 and money market 0.40
1l and 3 0.62 2 and market 0.65 2 and mcney market 0.45
1 and 4 0.56 3 and market C.75 3 and money market 0.55
2 and 3 0.65 4 and market 0.88 4 and money market 0.60
2 and 4 0.57

3 and 4 0.76 Between the money

market and the
market portfolic 0.40

The risk-free rate is estimated to be 16%, the market
return 27% and the variance of returns on the market 100%
(all for the two-year period).

[67



AC 403 (M) 2005
PAGE 8 OF 8

Required:

a) Evaluate how the Elm should be invested using
portfeclio theory, (18 Marks)

b) Explain why portfolio theory and CAPM might give
different soluticns as to how the Elm should be
invested. (5 Marks)

c) Discuss the main problems of using CAPM in investment
appraisal. (7 Marks)
Total (30 Marks})
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